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Justin Bieber Vasili Arkhipov

1) Which one of these people is more famous?



Justin Bieber Vasili Arkhipov

1) Which one of these people is more famous?

2) Which one of these people should we should thank for us all
being alive here tonight, because he singlehandedly stopped a Soviet
nuclear attack during the Cuban missile crisis?



Lesson: Relying on luck is
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Probability of global nuclear war having happened

100%

a poor long-term strategy

Assuming merely 2% chance/year:
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WHAT SHOULD THE END GOAL BE?
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Infighting about end goals is best avoided among all who agree that
the first step should be down rather than up!






You have power every time you
=vote

= share (#MITnukes)

"shop

" invest



“If you want to slow the nuclear arms race,
then put your money where your mouth is
and don’t bank on the bomb!”




